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READ THESE INSTRUCTIONS CAREFULLY BEFORE YOU ATTEMPT TO ANSWER 
THE QUESTIONS. 

1. WRITE YOUR CANDIDATE NUMBER ON THE ANSWER SHEET AND 
UNDERLINE THE SUBJECT. 

2 	This test contains 40 questions. You are required to answer ALL questions. Four 
responses are given for each question. The responses are A, B, C and D. Only 
ONE response is correct. 

3. 	If you are not sure of the answer to a question, then choose the one which you 
think is BEST. On your answer sheet, draw a heavy black line through the letter 
you have chosen. 

BE SURE THAT THE QUESTION NUMBER IN THE BOOKLET IS THE SAME 
AS THE ONE YOU HAVE USED ON YOUR ANSWER SHEET. 

Here is an example done for you. 

. 	Carbon dioxide is a 	 ANSWER SHEET 

(A) mixture 	 (B) liquid 1. A B 	D 

(C) gas 	 (D) solid 

A heavy black line has been drawn through the letter C on the answer sheet 
because gas, the correct answer, is next to C. 

5. if you make a mistake, erase the line cleanly, then draw a heavy black line through 
the letter next to the answer you have now chosen. 

6. REMEMBER, each answer MUST only be shown by a heavy black line on your 
Answer Sheet. 

111 	 7. 	Remember only ONE answer must be provided for each question. 

8 	DO NOT TURN OVER THIS PAGE UNTIL YOU ARE TOLD TO DO SO. 



1. The spider belongs to the class of 

(A) arachnids. 	 (B) mollusks. 

(C) worms. 	 (D) insects. 

2. The part of the eye that changes the size of the pupil is the 

(A) 	cornea. 	 (B) 	iris. 

(C) retina. 	 (D) eyeball. 

3. One sense organ of humans is 

(A) teeth. 	 (B) hairs. 

(C) skin. 	 (D) lungs. 

The drawing below shows the parts of a flower. Study it carefully, then 
answer question 4. 

4. The part labelled X is the 

(A) petal. 	 (B) sepal. 

(C) 	pistil. 	 (0) 	stigma. 

5. Which causes air pollution? 

(A) 	Cigarette smoke 
	

(B) 	Heavy rain 

(C) 	Bauxite ore 
	

(D) 	Falling leaves 
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6. 	Gravity is the force which 

(A) pushes objects upwards. 

(B) does not change the direction of objects. 

(C) prevents attraction between objects. 

(D) pulls objects downwards. 

In the diagram below, a magnet is tied to a support by a piece of string. 
Study the diagram, then answer question 7. 

iece of strin 

agnet 

7. What type of magnet is shown above? 

(A) Oblong 
	

(B) Permanent 

(C) Bar 
	

(0) Temporary 

8. One revolution of the earth occurs every 

(A) 	14 days. 	 (B) 	24 hours 

(C) 28 days. 	 (D) 365X days. 

9. A moon is defined as 

(A) an object that gives light to a planet. 

(B) a satellite that produces its own light. 

(C) a natural satellite of a planet. 

(D) an object that orbits the sun. 
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